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lltqpuhpLhp
09132200 phhqfb qphrflrnr-rf uu t 400 750 300.0

09211000 puurlnqhp h puurtrlnrBhn uu L 2000 15 30.0
09217400 rlrnfu uhorfuh urmrhh rnlnhn uu t 2500 4 10.0

r8141100 ur 2luru ururhpurt htr &hn hnqh hn UU urmrir 3000 10 30.0
18421730 d.hnhnotrhp urhuhuurl4 urir uu hunn 250 30 7.5

18111000 rfuruhurqfrurur! urtr hur gnr-urn UU 4nuril 40000 1 40.0
24110000 p|ilfru\urh urprnur4pur\ruh qurqtp UU rI3 3000 166 498.0

241 i 1800 urqnrn hhrlm\ uu t 500 t29 64.5

24326000 urghurnh uu tJt-p 1200 10 1,2.0

30125100 purprnplr2hhp tr urnhtphhp uu hunn 5000 L5 65.0
22820000 d.Lupqphp UU hurtn 5 50 0.25

30197631 pmr1p,A4 $npriunnf uu hurtn 1850 50 92.5

30197631 fdmqp \q2nr-h uu huru 500 65 32.s

30t92721 qplt: qtt4tthurqttp uu hunn r.00 100 10.0
30L92737 durufrur qpur$|nnh rifr2nr-\nrf hururupur\ uu hurtn 200 10 2.O

30192710 unuh&urdunnfrur, qpuruhh3 urlf *t trtt uu hunn 200 10 2.0
30197234 prlpulqurhru\ \.tZrn \ urqilm] uu huru 700 20 14.0
30797231 S*tL UU rnnr-rh 10 1100 11.0
30197231 prlpruqrutru\ $ur1 1hpml / 1 0Su11/ UU hurtn 400 5 2.0
30197231 pqpurqurtrur\ $u11hpnrl /a0Qur31/ UU huln 1300 4 5.2



30t9723t BnBuulurtruh $urtt bnnil UU hruur 300 10 3.0
30192160 2urplrfuhhp T n f f

U L T hurtn ?nn 5 1.5
3019763r fdnulld urqruqpur\rulr UU urnuh 10000 5 50.0
30192780 k2upurdurirlr2 uu hurur 320 10 3.2
3924t210 d\punn qpuruhtrlur\ru3 frtr uu hrurrr 650 2 1 . 3
39263400 uninurLhhn uu urnr-rh 400 4 1 . 6
39263s10uhqriru\, rlrnpp uu hunn 30 25 0.75

39263510 uhrlilru\, r'ftrghL uu hunn 100 36 3.6
31681300 halfb uurppfr rlhururfrhp lr uluhrlurhhp uu nnuril 400000 1 400.0
31681300 hqn-h lurlqhp uu hutn 8000 20 160.0
31777140 qlrlnurujfrh uurppurr.lnpilruh [h\urpnq uu 4null 250000 1 250.0
33t4rtt7 pudpu\ uu hurtn 300 20 6.0

3321 1000 ufuunpn2fl trlnrphp UU rlFruri 350000 1 350.0
33696s50 lupnnuurnn odurhnurb hlnrptp UU nnuril 200000 I 200.0

33691 162 LluFnFrutrrnl urq4urh3nrphp (nhuqhtrtnhhp) uu rlpuril 500000 1 500.0
33141129 nhilurLhhn UU hunn 120 50 6.0
24310000 hhrltrurh urh urhongurhurh urtr phrf hurL urh htnlBbn uu nnuril 340000 t 340.0
38436500 ilurqtrfruur\ruh ]uunbf2 UU hurr,n 37000 I 37.0
3023223r hullurL urnqlh h nrur uh ull urnurh uu huru 1 7000 2 34.0
302361 10 orl hnulnhtl hhrnnntrarnth uu hurur 1 9000 2 38.0

30237r12 uhnr-otfurh prnL uu hrurn 19000 2 38.0

30234630$rhr hhrnnnr-nrnth S GB uu hurur 4000 4 16 .0
30232000 lror]nn uurnphn uu huur 100000 1 100.0

33761100 qnrqurnurhh rdnlqrd UU hurur 130 200 26.0
3152tLt0 rntuundurh 60X60 uu hunn 9000 1 0 t44.0

31512360 rmuurn&urh 25x25 UU hunn s000 4 20.0
31521200lunful L\nhnri uu hurtn 1200 1 0 12.0
31531210dh\urpur\urh luniq 60W,80W, l00W UU hurtn 100 20 2.0

31227280 hnhrunurqilub rurnhn UU hunn 2500 6 15 .0

31321 1 10 qurbn h rihohh rrunrfruh rlurrnr-lutrhn uu ilhnn 250 60 15 .0
3L71t250 tunnnrlurh 2n uu dhurp 900 5 4 .5

317tt250 hnnnrlurh 4n uu dbup 450 5 2.25
31711250 lu nrr nr] rutr h L qruriurutn UU hurtn 450 o 2.7

34331300urtlurnri hp h tll trhpfr ul urh h uurunf uruhp uu nnuli 100000 t 100.0

3491 1 150 q uhurq uh u:urhhur,nuriluruhn uu nnuril r00000 I r00.0
38431700I uFnpuunplrurlfr lurpngh>hhn h qrupurqurhhp UU nnuril 300000 1 300.0

38s91000 LurFnFu[nnF uurFP UU nnuril 950000 1 950.0
39812600 ilupnnn ilurbnrbhhn h rhnrhbhn uu hurur 450 40 18.0

39831242 r rlurqph rhnrh &tnpnil r rhuhurr nt huniurn uu hrutn 300 20 6.0
39831246 hhnmL rilurqnn rfhqnq uu hurtn 1950 10 19 .5

39831281 ururuhh tiurpnhtnt turB uu huln 450 40 18.0

39831282 hurhnrrp rlurpnhrnr rurn UU hrurn 600 10 6.0

39831283 hulnruLh r rhuorlurh r urra uu htuu s00 20 10.0

39836000 urrlhr uu hunn 700 20 t4.0

39837247 urluururhurhnq hh4nr\ uurhhurhqnr"tgh (hr'rrurLtmp) uu huur 600 10 6.0
39831240 tftupnnn hrnrnhn uu hurrn 500 20 10.0

39831244 odurn urhurhuurLuh uu hurur 150 20 3.0

39831245 odun hhqmh uu huur 400 20 8.0
19641000 urnr hhBhr hhurthh u urnh urnrh huliurn uu hruur 1450 10 t4.5



19641000/1 runrhkBhr hhr.urhtr rurunL urnpl-r hudtun uu hrur,n 320 l 0

4422tt40 ururtnnthurtrhhn UU huru 120000 I 120.0

44221140 4nhhp iltrnurlur\ruh zuu hunn 485000 970.0

44t11200 ghdhhm UU uturltl 2600 60 r56.0

t42Ltt l0 rur.lruq uu utunh 250 6 l - . . )

44322300 riur ntlu hurluururhutl urb ht nurtunuruL uu h hurilurn uu fhurn 250 cn 12.5

3223t600 hhnulunuurrhh truruh utunptn UU hunn 75000 1 75.0

32361100 hhurhnfu htn tr ru ru h uurnphn UU huru 75000 1 75.0

44471740 qnr-qurnulLurbnhp uu htutn 30000 1 60.0

44411300 rrlurqurnurb uu hurtn 13000 1 13.0

4 4 4 I M O qnh bnnurL uu hrurn 6000 t 6.0

4441.15L0 thurbrutrtrhn UU hrutn 1800 3 5.4

44423680 2frhurpurpnr-plurtr r.ib2 oqururqnpbrlnrl qurhurqruh
uril ulrlnruhptrhn

uu rlpurd 300000 1 300.0

4451 1000 &hnpfr qnpblrphhp uu rlpuril 1 00000 1 100 .0

4452tt20 nnurh rhurl.rurhhhn uu nnuril 40000 I 40.0

Cltn w I h tt n ut Lu n ut bp h hn 7532.4

Ournurlmranr-htrhn

45461 100 2hhphpfr h 2]rhntp3 nr-hh hp]r lttpush\ hnpnqrftu h
urrluurnruhphhn

qz r1frurd 560000 560.0

453t1,r25
hhnrulunuuri trtt qbh uhrlur4pnni h ilurlntlutrhpfr
urhqhruqnul

uu 4Furil " 250000 2s0.0

s01 1 1 130
ur{nnilhphhurhhpir rlhpurhnpnqrlurh
burnurtnr-Btnth

uu r1Furi 250000 I 250.0

50750000
rlhphlur\fr rlhpurtrnpnqilruh tr qruhqurhilurh
burnurlnrrolnrh

uu 4Furd 100000 I 100.0

5041 l 160
rlrnp&urp\nr1 uurpphpfr {hpurhnpnqrfurh h
u urhur urhrftutr burnurrnr-rarnr,hhtn

uu 4Furil 500000 1
I 500,0

5071 1 100 h1h\urpru\ruh uurpphplr rlhpurhnpnqrf urtr tr
ru urhu urtllurtr burnurlnr-Btnthhbn

uu lFuril 1 50000 1 150 .0

641 1 1000 hurhnurthh hhnurlunuurthh burnrutntBlnr-h uu rlpuril s00000 I 500.0

6 5 1 1 1 1 0 0qnh rulrtuntrl UU qFurli 300000 I 300.0

6531 1 100 h.khhnqhurrh nurrluntd uu 4nuni 9000000 I 9000.0

64121000 untphuh rpu\*thlt burnul nr-plnr-h UU nnuril 132000 I 132.O

66511170ullurnrihphhurth uru]urhnrl urqndurh burnurlntplntl: UU 4lurd 35000 70.0

7163tt20
uu{urndhphhur3}r urh}uhfr\rulurtr ur.nnr.qilruh
burntulnrIalnttr

uu rlpuni 10000 30.0

71221200 h urrph runnhurhurhruqrlulh burnurlntptnth uu rlpuni 400000 I 400.0

72261160
bpurqprulfrtr urqurhnr{rfurh uqururup\rlurh
brunurlnr-Btnr-h

uu Qpurd 400000 I 400.0

72212300 d.urnururnurut hrnurh urh burnrulntBlnr-trhhn 200000 I 200.0

79981 100 nurdurhnnnuqniluh burnurtntlatnttr uu qpuli 9000 l . ) 108.0

72400000hullurqurLqurthh bunurtntBtnthhhn UU 4nuril 470000 I 470.0

79131300 h1h\urpntrurlfrh urnnpurqpnr-p3urli
hurtlunnurnrJurqnriurh brunurlnr-Talnth

uu rlpturJ 3100 I 3 .1

79223000 rlurpuurl |rh rifrptrnpalr (pft"php) burn ur1 ntp3 nthtrtp uu 4nluil 200000 I 200.0

7981 1000 rnul urqnurh urL burnurlnrlolntL UU 4lruri 1 00000 4 100 .0

90921 100
urluururhurhrftutr h riur\upnr-3bhhpfr n2h2urgtftutr
burnurlmratnrhbhn

uu rllurd 180000 I L80.0

9051 1 100 urrpfr hrur{urprfurh buinurjntpSnth uu 4Iruril 360000 I 360.0

0933 l 400
urptrurSfrtr Lhhpqlrur3f urnurgilurh hutfur\urpqlr
hurhurcbmil h urhnrunnnttl

qz r1nuril 0 I 0



48441300
hur2{urqurhur\ruh hurilur\urpq2ur3frh bpuqpurJhtr
trurphp

uu 4luri 125000 I 125.0

99600000
qtrnul 2hurh4frurugnrl bur]uuhp /gnpbnqriurh
burluuhn/

uu llruni 1100000 I 1L00.0

C|tnut d b ttn twn tu n ua t n fi tt h n 75488.7

Ctr4urtlhtrp 23020.5

z. U:L rifr2ngl-rhpfr hu2{rb \ulnrup{hfrp qtrnr-tiLhp

Qfnnurhhururqnurur\urh h rfrnpd,ur\nl,ruurpm\rnnpur\urL ru2furutnrul-rphh urltfu
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031 1 1280/1 \unrlnt! (hhnnth orhqnrlhnurrhL) q2 huln 1000000 1000.0
03111280/2 Lurnr-tnth (rntBurnhbh-hhurnhr rurhtr) q2 huln 20000 1 0 200.0
031 1 l 280/3 \ urnr-ym! (pnrpurafrhtrurl frtr) qZ hurr.n 20000 1 0 200.0
03111280/4 ! runrynt! (q nt hnr-nhururtnut hh) cz htur.n 20000 1 0 200.0
14521 1 10 dhururnlihnh rhnehhhn UU hurur 150000 150.0
14821000 unurubh q2 {/p 6000 50 300.0

19521500/l hhd (hruopuhnurrhtr) uu hurur 20000 l 0 200.0
r9521s00/2 luhd ($hhor $oprirul ahhlraurl|rh) uu hurur 20000 10 200.0
243r1190 ppmhhp uu hurtn 50000 l 0 500.0
2432t660 qurhurourh onqurLurLruh philhurbruh hrnr-Bhn UU hunn 30000 5 150.0
24321340 Lraurhnr. rdeLuLurl: UU hurur 50000 50.0
3021 1200 nrmnurb hn huliurh urnqhlhhn qz hunn 400000 I 3200.0
3021 1 120 qhnhurilurturnqhr SZ hruur 2000000 2000.0
3021 1 190 hrurJruburnohlhhn qz hunn 400000 â 1600.0
3021 l 280 huriurh urnqhl ur[rnnqn rihhmrl qe hunn 150000 4 600.0

30232110/1 r urqhnurhtr rnurhl/ A3/ qZ hruur 400000 400.0
302321r0/2 turqhnruthh tnruh, /A4l q2 hunn 80000 6 480.0
30232tr0/3 t urqhnurthtr urruh, qnr-hulJnr'/ A4l qz huln 80000 I 80.0

30237rr2/1 uhmqrlurh plnL / 2500.{U/ SZ hurur 300000 t2 3600.0
30237112/2 uhmqdurh rrnh / 5000-{tV q2 hutn 1000000 2 2000.0
30237rr2/3uhmgrftuh plnll / 8000.{U/ qZ hurur 1300000 1300.0

3121 1430 h1h\urpur\urtr rlurhurhur\hhp uu hurur 30000 20 600.0
31211221 urhpurtnhlhhn uu hruur 2500 20 50,0

31521560/1
urprnurpfrh lntuu{nptiurh lunlqhp /urphurS}rh
rlurhurtrur\n{

uu hurur 20000 t2 240.0

31521560/2
urpuurpfih lmuurtlnprlurtr lunlqbp /urphurlfrb

{ruhuLur!nr.l/
uu hurur 5000 24 120.0

31521360 h1h\urpur\urtr lunlq uu hrurn 7000 30 210.0
37684400/1 rlurnrlurhhhn /22hll uu hrur.n 2500 40 100.0
37684400/2 rlurnnurhhhn /380d / uu hurur 10000 20 200.0

hnqur\gilurh \nhurnrp uu hurur 500000 s00.0
33691 160/1 phrlhurL urtr urqnurhrnrphn /nttuqhtrurtrhn/ qe hurr,n 500000 500.0
33691 160/1 hunnntL philh u: tr ru h ul o nuhr n Lrab n /nb ru chhrn b hn/ qz hunn 400000 400.0
33791300 I uEnnunnnn uulurU lur urnurur4nurhp q2 nnunl 1000000 I 1000.0

3491t230
burluuurlfrh trlmphp h qurhhuurulluruhp
(pnnrfunnngnur$hurh u-rh ilruq urhnraurthh rutururnurh,

qz hunn 720000 3 2160.0



30-60il)

3491 1230
Eurluuurl|rtr h3ntphp h qruhhur-nulfuruhp
(hhqm\ur$urq ppnrfunnnqpur$fur\ruh ru2ururpur\)

q) hurur 1200000 L 2400.0

349t1230
burluuurlfrh h3nr-php h qurhbuurunftuuhp
(hhrlnt\urSurq ppnrftunurnqpur$frru\urtr
hurluururtr.nurnurll )

qz hruur 900000 2 1800.0

3491 1230
burluuurlfrtr hlntpbp h ulurhbuururduruhp
(htnmtrur$urq pnntlurnurnqnur$hurhulh hunirudtrzhl)

q2 hruur 1200000 2 2400.0

34941160 &ultnulftr urq4urL2urhurlfrh urupphp qz huru 500000 I s00.0
3 5 1 1 1 1 0 0 hru\ urhp4hhurl|rtr uurppbp hunn 1000000 I 1000.0

3512t290t1 utlhrtrhn /bhh 433 ilhq/ SZ hurtn 6000 30 180.0

35121290/2 uulhthhn /qhnilurrhL/ qZ hrutn 6000 30 180.0

3512729013
un{fr2hhp /urhr{ururtrqnr-plurh hrurf ur\upqfr 2updriruh,
433 rihq/

qZ hurr.n s000 30 150.0

35r2t29014 unlhttrbn (purndn dtrzilurh nhur\urnplr ) qz hurur 600000 I 2400.0

3512t290/5 tmlhlhhn (nrun&n dhrdurh ) 1L hrutn 600000 Aa 2400.0

35721290/6 nrlf2Lhp dh2ilurh (160 urtnri) Y4 hrun 30000 A
1 120.0

3512129017 ullh>hhn dtr2rlurtr ( 250 uruni) AL hurr,n 30000 AT 120.0

35121290/8 unlh>hhp dtrzrlurh (400 ruuli ) qz huur 30000 I 120.0

3572t29019 urtlhlhhn dhzrlutr (1000 uruli ) SZ huru 30000 4 120.0

35121290/r0tmllrlhhp (purn&fr dh2rluh ) q2 hruur 62000 2 r24.0

35121290111ndhlhhn (rrun&n dhztiurtr ) hruur 62000 2 t24.0

35721290/12 tnr.lhlhhn (rrun&n dbztluh ) qz hurtn 62000 2 t24.0

35121290113urlhlhbn (purn&n dhrriurtr ) qZ hunn 520000 I 520.0

35r2r290/r4unlhlhbn (prun&n dtrrriurh ) huur 520000 1
I 520.0

3s111170hprlhhb ilrupilurh huniur\urpq I 200 -3QO{2/ qZ hurut s0000 6 300.0

35120000 urhrl ururtrqnrBturh huniurL unchn qZ hurur 2000000 2000.0

35121280 huL nnntnturh hurtiurL urnq $1. hrurn 2000000 2000.0

3512732011 urhrl ururhqnr-nrurh urhuurtuqhh hhn qZ hurur 10000 30 300.0

3512r320t1 urhrl urru b qnrpt urh rnh uurluqhh hhn (IP Cam era) qz hruur 40000 l 0 400.0

3831 1300/1 [h\urpnhurlfrtr urh]uhfr\ur\urh \2hnphhp /. 5 t{q/ qz hurn 200000 600.0

3831 1300/2 hgh\upnhur3frh urhlutrfr\ur\ruh \2hnphhp /< 30 \q/ a-7 hruur 50000 z 100.0

3831 1 200 h1h\urpntrurl|rb r{hplmbru\urh \2hnphhp
q t hurur 1s60000 I 1560.0

38431610 fuurntrfr2trhp /rfurqtr]ruur\urb/ qZ hurur 200000 2 400.0

3842114011 d.li2rfurtr 2ulfnirutr uurpphp qz hunn 34s000 I 345.0

38421t4012 6.h2rftutr 2ru{rilurh uurpphp q2 hrurn 34s000 I 34s.0
38421r40/3 d tr2riurtr yru{lftutr uurpphp, fo.lutl}tl,

q t hunn 255000 1 255.0

3842714014 &h2iluh 2unlrriurtr uurpphp, fu.l*thtt qZ hrurn 255000 I 255.0

3842rr40/5 2u{nftuh uurpphp hurr.n 195000 I 195.0

3842rr4016 lunlrilurtr uurpphp qZ hurtn i95000 I 195.0

3843t570 ghnnr-gfiy uurfr\hhp qz hrurn 10000 2 20.0

3841 1400/1 |unhru{ur2un}rhp (}untrur.l*l*S \2hnp-hurlnqbhurjfrlt
I uliu nrl tnurpurqr]nn )

qz hrun 840000 I 840.0

384tr400/2 ]unhunlur2ulfrhp (|unhurrl*:.*4 llZhtp-
hh$nurLrurmihn r urilurntl unupurqdnn) qZ huur 840000 I 840.0

3841 1800 \nlnplrurlur+ /DSC/ qz hurur 10200000 1 10200.0

38431610 [uurnh]rltrhp (tl]rh2b 1 01 urupnrlntpjunip
hnruurtllunuhq BhuLl tuilnn luurntrh>trhn) q2 hunn 1500000 4500.0

38431610/1 h1h\urpru\urtr rfrppuunp o-t hutn 8s0000 8s0.0

38431 160/1 ppnriuurnqpur$hhp q t huln 1s600000 1 15600.0

3843116012 ppnrftuurnqpu:$trhp YL huru 3360000 I 3360.0

38431 190 uqhllupnilhurphp n T nr U hunn 0 1 0

385 1 1 120 u\urhurrlnpnrl hph\urpnhur3|rh ilurtrpur+hururll 2trU hrurn 76800000 1 76800.0



38591300/1 Lurpnpurunp qh4url|rh uqurg tru hurtn 700000 1 700.0
38591200/l pfuifru\uh LurFnFurnnnlrurlnui \frprunrlnrl urupphp

(9tup1 -$|r2hnlr hhptrrutlurutn urhunur rnn n) trU hurur 4800000 4800.0

38591200/2 pf ilf ur\uh LruFnp ur mnlfrrul nul \f purnrlnrl uurpp hp
(hunnnr-\ \nhuurpnr\ghruih qlutrtuilhBhLur) etru

hutn 4s00000 1 4s00.0

38591200i3

pfrilfrur\urtr LurFnFurunFfrurjnrrl \frpuntlnrl uuFp hn
(phprinqpullfnihupur\urtr urhrufrqururnp TGA
hurilur\grlub $nrp hfr &tru gnfu riru rf p irtrgpqr qupilhp
uulhlturnrulnr-uruluulrh (FTIR) hhur)

trU hruu 60000000 1 60000.0

38591200/4 trU hurur 0 I 0

38s91200/5pfnifnu [rub Lurpnprutrrnpfrur3nrrl \frpurnrlnrl uurpphp
(urunnhnh (C, H, N, S, O) pfllfrulruh urhrurhqurr.nnn) tru hurur 10200000 I 10200.0

38s91200/6
plrilfrurQurtr LurFnpurunFflu3nrr.i \frpurn{nq "urpphp(flhhrnqhhjurtr 4fr$pru\urnrf hr.np (X-Ray
Diffractomerer) tru

hunn 46500000 I 46500.0

38591200t7
pf ilfru\ruh tuFnpurnnpfnu3nui \frp urnrlnrl urupphp
(2hpriulf hfu urhfr\ur\urtr urtrurfrqruurnp
Thermomechanical Analyzer (TMA) ) tru

hurr.n 7200000 I 7200.0

I nh dh uhurh LluFnF urunFfrur jnui lfrprun{nr1 urupp bp
3859I200/8 

| 
(dhZrfurh, funtrur{ntp1urh tr 2hpilruuurfrdruh}r :ur+b:

I q{f2 tlruhutrur\) trU
huln 50000 t 0 500.0

38s91200/9pfllfrur[urh Lu]Fnpurunpfrur3ntil \frprunrlnrl uupphp I
(hrlntZtrhnh Qhqrlhlu rhnp&urp\rftuh urupp) I epU

hruu
4200000 4200.0

38591200/10
pfllfrur {uh LurFnpurunp}nu3nr_rf \}rpurntlnq urupphp
(hrintZhhph \ilrdurturhruh rlrnn&urp\riutr uurpp) hrur.n

3120000 1 3 1 7 0 0
38591200/l I

pfrilf ur.\urh LuFnFurunlfrurjnui !|rpurnr{nr1 uurpphp
(urhnp' purp&F dtr2rftutr) tru I hun

3000000 2 5000 0
38591200/12pfrilfnu\urtr LurFnpuruupfrur3nui l1|rpurn{nr1 uurpphp

(uqnurlr qhhhFurunp) trtI hruur 6000000 I 6000.0

38s91200/13pf ilfu\urtr LurFnpururnpfrurlnrtl \frprunrlnrl uupphp
(ulnDrlhnhqurghurth \uururl |rruqtnnp) n T rr U

urntr]r
100000 J

300.0

38s91200/14pfnlfrur llutr LurpnpuurnFfrrulnni \irpruntln{ urupphp
(nhhqnghruLurtrrhhn) tru urnulr

r00000 3 300.0
uurFphlrh uurntqur2urrlrilurh unruh4urpur trilnr2hhp 'iz. hunn r00000 10 1000.0

39132210
tnhuur[ur{npriurh 4rupru\ru2ruphp (blrr phpfr
q urhq utniu h rFupur \ru2urp)

qZ hunn 80000 400.0
39181 100/l FrFnputnnFhruJ tr uhqurhhh fr (pfrilfnu\ru h uhrlurtr) hurur 300000 b l R O n n
39181 100i2 ltuFnFurnnlfrtulfr uhrl ruhhhn ($hq hburL urh uhn urh) qZ hr.uur 300000 6 1800.0

39181 100/3 turFnnurunFf ur3f u hrluLtrhp (pf ilfnu\ruh uhquh
qqqh*-l ol)

q t hurtn 750000 oz 1500.0
39121 100 qpruuhrlurhhhp qZ huur r00000 1 5 1500.0
39t27520 qFurqurhurpurhtrhp qZ hurur 100000 5 500.0
391 I  1 180 ruldnn qFruubh1 u\tu jlrh q2 hunn 8000 50 400.0
39563800

orlurlrnluriurtr fu nqnriru\ru2urphp (hnr{urhng

fuhphtUu) UU hurr.n 30000 1 0 300.0
39713432 $n2h\nt1 uu hurtn 70000 140.0
39714200 o4npur\fr2 uu hruur 200000 ^ 800.0

42r2r370/1 tfru\ntrrrrfurSfrh qnriqhp /2HBp -5 /.M/ qZ hrurn 750000 1 750.0
42127370/2 tiur\nmrilurl frtr qnilq hp hunn 350000 z 700 0
42121690 {urhnmrilurlfrh qnrfqhp}r iluruhp /r}rur\ruV qZ hruur 60000 l 0 600 0
42631160 olurdtr2fr1 Gtttfnr"rh]rlf ) ilunlflr2hhp qz hurn 500000 2 1000.0



4261 1 100
hruurnr-\ \frpurnrfuih hurutnnghhp
(4nrn 1nr-uulfmur qur tnpuruurhlnt huruurn ghhp fr
hunlurrhn)

qe hurur 2000000 I 2000.0

4271tr90 2np ur gilru h uurpp urrlnpnr-tihhp SZ hruur 400000 , 1600.0
4271tt90 2npurgriurh uurppur.{npntrihhp (rlu\ntttur3frtr) qe hunn 600000 2 1200.0
42917750 purp2h). qurhurprub, rf hururrlur\urh qz hurur 500000 4 2000.0
42941120 t[ur\nmrtiurlfrtr {urnurpurtr qz hurur 27600000 27600.0
42941160 ph\rpfuih \urlmtnughpilng (phprinuururtn) qt hurur 600000 2 1200.0
42941r10 rlurnurpurhhhp / dnQhlur3 frtr/ YZ. hurur 780000 1 780.0
4291 1 i50 o4tu$niutf urh uurppunlnpmrltrhp qz hruur 500000 5 2500.0
44tt8320 phfuhq glrtr\urqutn uu ,l/p s000 80 400.0
44111400 l1*lo".llt runruuururl uu ,I/p 2000 100 200.0

44763740/l 2ph ]unrlmlu\, 2 rI Lru qb/il 450 150 67.5

44163740/2 gp! |un4n{u\, 4 4 UU qb/il 900 150 135.0
44t63200 funr1n{ur\hhpfr rlfnugrlurh rluruhp uu huru 450 20 9.0
4422tt00 qulnmhurtrtrhp qt rI/p 81632 49 4000.0
44221111 iltururqurqluurnh qrutnnthurhhhpfr iluruhp q , nnud 2000000 I 2000.0
4422t140 qnhhp qz hunn 200000 5 ' 1000.0

44221170/r 4nhhplr qu2uulurhhl g*ttg
(rhnururtlnn ilhururn urL urh nnhhn) .+L hunn 200000 4 800.0

44221170/2
rlnhhpfr qur2rnqurhht g*hg
(rtntnunlnn rlhururn urh urtr r:r urtnnthrutrhhn) q , hurtn 150000 6 900.0

44322200 rf urlnrfr, dh\urpur\urh lurp uu ilhurn 250 300 75.0

44322300
rftulntlu hurluururhurlurb frtrurhphhurul|rh \urqlr
hunfurp

UU rihurp 200 s00 100.0

44411300 llurgurpurtrhhp uu hunn 40000 10 400.0

4442t300 :hnhhq{"tt qruhrupruh UU hurur 40000 A 240.0
4452t170 \nqqhphhp /h1h\urpru\rutr/ uu hurur 20000 30 600.0

44611200/1 purlnhhhp pp{ubtrf FurF&F dh2ilurtr hruur 2s0000 2 500.0
4461t200/2 purpLhhp urqnurfr FurFdF dL2ilruh qz hurr,n 250000 2 500.0
44611200/3 purlnhtrbp hhfrmrlfr FulpdF dh2rlurh hurr.n 500000 1 500.0

446t1200/4 purlnhhhp urpqntrfr FruIr&F dh2r.Iurh hurur 500000 1 500.0
Ournurlmplmtrtrhp

453rrrst/l rfrnpdurp\riurh uurppullnpmritrhpfr rlnhrnurfiIurtr h
urhq ur4ptlurh urlhulnruhphhn

q)
4lnuil 0 1 0

453tr15t/2 tfnp&utp\rfuh uurppunlnpmrihhplr rlnhrnurdrlurh h
urh4 tu4pdurh ur lhruururtrphhn

a t rlpurrI 0 I 0

5041 1 160 $np&urp\nr1 uupphpfr rlhpurhnpnqrftutr h
qurhqurhrlutr burnur3nrpjnrhhhp se 4luril 0 I 0

4523t215 urtnlururhqnr-p3urh uupphpfr urhqru4pnui
(uh{tnurhqmplutr uhtrlur\hhp}r \urhur{npnuf)

UU 4Fruil 400000 2
800,0

521 1 1 100
dnbfrpnpfrhqurS|rtr uhtrlur\fr utuppurtlnpnuitrhpfr,
hbpurnpul urhuruhu\ilruh hulfur\rupqlr uurhrlbriurh h
urh4 ur4prlurh burnurlnlptnthhhn

UU qFluil 400000 2 800.0

71247200 Luluurqbhplr ulruuFurutnnrtf, burluuhplr qhurhulnnrrl UU 4nuil 990000 I 990.0
722tt180 hu2{urp\ruj }rh bpurqpurl frh {rruphphhpfr il2ru\ilur h

brunulntptnthhhn
qZ lFuni 1000000 4 4000.0

72211135 hhppf L burnru3 nqru\urh gurhghpfr huliurlurpqlurj hh
bpurqprul|rtr rfrurphphhpfr ri2ur\riurtr
Eurnurlntlalnthhhn

qz 4Furil 0 1 0

48730000 urhr{ururhqnr-pluh hunftu\urpq2urlfrtr bpurqpulhL
rhurBhBhhn

+L lnud 1000000 2 2000.0



4s400000/1 truFuFururnp uhh3ru\hhpfr qruuhplr ltrfaurghtl
hnpnqmtl /14OAJ2/

q2 qpuril
2000 1400 2800.0

45400000t2 flrurnfrurnturfr ru2ur\n4rfluh duruhurZhltph /2001121
ptrpurqh! hnpnqnul

4Frurl 5000000 I s000.0

4s400000/3 gbrlhhrn unlurqurlfrh 2rurpuluml hunnur\fr hnpnqnui
/hrupphsmil 1000ri2

qz +Fluil 1500 1000 1500.0

45400000/4 |rhuurfnnnunh 3-nr1 h*n\It ilfr2urtrgpfr burb\nt3pfr
hnpnqmrl uurl |rlurqruurnr-f 1 85il2

4nuil 10000 185 1850.0

4s400000/s frhurnlnnnunh 3-m h*p\h LurFnpurunp ubhlu\hbpfr
hruurur\fr burb\nr3pfr trnpnqntrf uurfr\urqurrnnr-r.i
r2al2

q2
rlnuril

10000 r20 r200.0

45400000/6 frtruurlrtnnunh 5 -nn h*p\h LurFnlunnp uhhl tu \hhpfr
hrurnur\fr burb\nrlpfr Uhpugb\ trnpnqnrti
uurl |r! uu1 unnnttl 80rf 2

}L qnuril 10000 80 800.0

45400000/7 frhuurfrurnrtnh 2-m h*nhh turFnpururnp uhhl ur\tr hpfi
hurnur\fr burb\ntlpfr plrfuutgh\ trnpnqntti
urul ]r! ulrl urtnmrl 60ri2

qz rlFruil r0000 60 600.0

45400000/8 frhuurfrtnnrurh 3-ptt hurp\hpfr uurhhurhqnr-:Shhnh
nhpurqhh hnnnsnr-il

qZ qFuil 2261000 226r.0

45400000/9 frtrutnfrurnrurfr &ur]uur\nqrfj uh ilruuhuZhhph
uuhhph nhpurqhh hnnnqnr-ti 300r.[2

q2 +Fluil 10000 300 3000.0

4531t127 rftu 1nrfu trhpfr urho! uronr-ti uu qFuril 990000 1 990.0
454211t6 h*h"rlh unuruunuq]r ur hrlur4pnrtl uu rlpruil 9s0000 1 950.0
45261110 nurhlrpfr Eurbllf urh ur2]uurururtrphhp uu rlFull 900000 I 900.0

CQuilttrp 411809.s

Qtrnr-rftrhpp hunltu\urpqnrl U.U\ptnyuh
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